A & R @ =

F A H 29 & 7 A 20 B 487985305

A # F AR ICALETRIZ2ME 2012 =

I 5 & B #-25

I == 4 EBEMXENZEISE

T X 5 Ff b i) BE #A

FoE @A (Fad) 4.912,920 H  AELB@EE (Bik) 4,549,000 M

5 1K I 1B i #% (%2 3A) 4 417,200 H  AHLELB@ES (Bik) 4,090,000 M

FAESHE (BRA) 4,611,600 H H&£%E (Bik) 4,270,000 M
e E A £l 2] & =

)= 5170 3= g 4,270, 000|&4LirE

=FE%R st 4,350, 000

RMESR et 4,350, 000

ARet EHES 4,360, 000

REEx KAt 4,380, 000

ARt A 4,400, 000

st BIE 4,420, 000

AR5t BE@EA 4,500, 000

At THME 4,500, 000

RSt KKREHR 4,520, 000

M_REt THEES 4,549, 000

EEEAFLERICI007 DSICHHL T HEEZME L - EEA IR EHRA L
DEHAA IR DMEETH D,




